Academic Students	Addition High Educa and N	ier tion Not	N Addit Hig	Employed No Additional Higher Education		onal ner ntion d oyed	Employed and/or Additional Higher Education		Students Not Found		Total Former Students
09010000 - Communicatio	n. General										
Non-returner	1	11.1%	5	55.6%	1	11.1%	7	77.8%	2	22.2%	9
Total	1	11.1%	5	55.6%	1	11.1%	7	77.8%	2	22.2%	9
09040100 - Journalism											
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
11070100 - Computer Scie	nce										
Non-returner	0	0.0%	4	80.0%	0	0.0%	4	80.0%	1	20.0%	5
Total	0	0.0%	4	80.0%	0	0.0%	4	80.0%	1	20.0%	5
13010100 - Education, Ger	neral										
Non-returner	0	0.0%	4	66.7%	1	16.7%	5	83.3%	1	16.7%	6
Total	0	0.0%	4	66.7%	1	16.7%	5	83.3%	1	16.7%	6
13120300 - Junior High/Int	ermediate/	Middle So	chool Edu	cation and	l Teaching						
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
13120600 - Teacher Educa	ıtion, Multip		;								
Graduate	4	30.8%	2	15.4%	7	53.8%	13	100.0%	0	0.0%	13
Non-returner	7	8.0%	44	50.6%	13	14.9%	64	73.6%	23	26.4%	87
Total	11	11.0%	46	46.0%	20	20.0%	77	77.0%	23	23.0%	100
15040300 - Electromechan			ctromech	_	_		y				
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
15090300 - Petroleum Tec	hnology/Te										
Non-returner	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3
Total	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3
23010100 - English Langu	age and Lit		General								
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
24010100 - Liberal Arts an	d Sciences										
Completer	11	20.8%	10	18.9%	31	58.5%	52	98.1%	1	1.9%	53
Total	11	20.8%	10	18.9%	31	58.5%	52	98.1%	1	1.9%	53
24010200 - General Studie	s										
Graduate	75	25.6%	70	23.9%	96	32.8%	241	82.3%	52	17.7%	293
Non-returner	110	9.5%	625	54.2%	159	13.8%	894	77.5%	259	22.5%	1,153
Total	185	12.8%	695	48.1%	255	17.6%	1,135	78.5%	311	21.5%	1,446

Academic Students	Additi High Educa and I Emplo	ier tion Not	Empl N Addit Hig Educ	o ional her	Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
24019900 - Liberal Arts an	d Sciences	, General	Studies a	nd Humai	nities, Oth	er					
Non-returner	814	43.8%	381	20.5%	298	16.0%	1,493	80.4%	365	19.6%	1,858
Total	814	43.8%	381	20.5%	298	16.0%	1,493	80.4%	365	19.6%	1,858
26010100 - Biology/Biolog	ical Scienc	es, Gene	ral								
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
31050500 - Kinesiology an	d Exercise	Science									
Non-returner	1	50.0%	1	50.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	1	50.0%	1	50.0%	0	0.0%	2	100.0%	0	0.0%	2
42010100 - Psychology, G	eneral										
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1
43010700 - Criminal Justic	e/Police So	ience									
Graduate	1	11.1%	5	55.6%	2	22.2%	8	88.9%	1	11.1%	9
Non-returner	3	7.1%	25	59.5%	5	11.9%	33	78.6%	9	21.4%	42
Total	4	7.8%	30	58.8%	7	13.7%	41	80.4%	10	19.6%	51
44070100 - Social Work											
Non-returner	0	0.0%	5	83.3%	0	0.0%	5	83.3%	1	16.7%	6
Total	0	0.0%	5	83.3%	0	0.0%	5	83.3%	1	16.7%	6
45060100 - Economics, Ge	eneral										
Non-returner	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
Total	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2
50050100 - Drama and Dra	matics/The	atre Arts	, General								
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
50070100 - Art/Art Studies	, General										
Non-returner	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2
Total	0	0.0%	1	50.0%	0	0.0%	1	50.0%	1	50.0%	2
52010100 - Business/Com	merce, Ger	eral									
Non-returner	8	7.8%	61	59.8%	12	11.8%	81	79.4%	21	20.6%	102
Total	8	7.8%	61	59.8%	12	11.8%	81	79.4%	21	20.6%	102
52020100 - Business Adm	inistration	and Mana	agement, (General							
Graduate	0	0.0%	9	56.2%	4	25.0%	13	81.2%	3	18.8%	16
Non-returner	0	0.0%	11	84.6%	0	0.0%	11	84.6%	2	15.4%	13
Total	0	0.0%	20	69.0%	4	13.8%	24	82.8%	5	17.2%	29

Technical Students	Addition Higher Educate and N Emplo	er ion ot	No Addit Hig	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		ents ot und	Total Former Students			
11010100 - Computer and Information Sciences, General														
Non-returner	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
Total	0	0.0%	0	0.0%	0	0.0%	0	0.0%	1	100.0%	1			
11020100 - Computer Prog	gramming/P	rogramm	ner, Gener	al										
Graduate	0	4	50.0%	4	50.0%	8								
Non-returner	3	7.7%	26	66.7%	0	0.0%	29	74.4%	10	25.6%	39			
Total	3	6.4%	28	59.6%	2	4.3%	33	70.2%	14	29.8%	47			
11100100 - Network and S	ystem Admi	nistratio	n/Adminis	trator										
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
11100200 - System, Netwo	rking, and L	AN/WAN	N Manager	nent/Mana	ager									
Graduate	0	0.0%	7	46.7%	4	26.7%	11	73.3%	4	26.7%	15			
Non-returner	0	0.0%	20	76.9%	1	3.8%	21	80.8%	5	19.2%	26			
Total	0	0.0%	27	65.9%	5	12.2%	32	78.0%	9	22.0%	41			
12040100 - Cosmetology/Cosmetologist, General														
Graduate	0	0.0%	9	52.9%	0	0.0%	9	52.9%	8	47.1%	17			
Non-returner	1	3.0%	19	57.6%	0	0.0%	20	60.6%	13	39.4%	33			
Total	1	2.0%	28	56.0%	0	0.0%	29	58.0%	21	42.0%	50			
15040300 - Electromechan	ical Techno	logy/Ele	ctromech	anical Eng	jineering T	echnolog	ЗУ							
Non-returner	1	2.4%	19	45.2%	0	0.0%	20	47.6%	22	52.4%	42			
Total	1	2.4%	19	45.2%	0	0.0%	20	47.6%	22	52.4%	42			
15050100 - Heating, Ventil	ation , Air C	ondition	ing and R	efrigeratio	n Technol	ogy/Tech	nician							
Graduate	1	7.1%	10	71.4%	3	21.4%	14	100.0%	0	0.0%	14			
Non-returner	0	0.0%	9	75.0%	0	0.0%	9	75.0%	3	25.0%	12			
Total	1	3.8%	19	73.1%	3	11.5%	23	88.5%	3	11.5%	26			
15130600 - Mechanical Dra	afting and M	lechanica	al Drafting	CAD/CAI	OD OC									
Graduate	1	6.7%	6	40.0%	4	26.7%	11	73.3%	4	26.7%	15			
Non-returner	0	0.0%	13	54.2%	0	0.0%	13	54.2%	11	45.8%	24			
Total	1	2.6%	19	48.7%	4	10.3%	24	61.5%	15	38.5%	39			
19070600 - Child Developr	nent													
Graduate	0	0.0%	0	0.0%	0	0.0%	0	0.0%	3	100.0%	3			
Non-returner	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3			
Total	0	0.0%	2	33.3%	0	0.0%	2	33.3%	4	66.7%	6			
22030200 - Legal Assistan	t/Paralegal													
Graduate	0	0.0%	4	66.7%	1	16.7%	5	83.3%	1	16.7%	6			
Non-returner	0	0.0%	2	100.0%	0	0.0%	2	100.0%	0	0.0%	2			
Total	0	0.0%	6	75.0%	1	12.5%	7	87.5%	1	12.5%	8			

Technical Students	Additi High Educa and I Emplo	ier ition Not		o tional her	Addit Hig Educ an Empl	her ation id	Empl and Addit Hig Educ	l/or ional her	Students Not Found		Total Former Students
24010200 - General Studie	•										
Non-returner	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3
Total	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3
Total	· ·	0.070	Ü	100.070	ŭ	0.070	Ü	100.070	Ü	0.070	· ·
24019900 - Liberal Arts an	d Sciences	, Genera	Studies a	and Huma	nities, Oth	er					
Non-returner	2	1.2%	109	64.5%	6	3.6%	117	69.2%	52	30.8%	169
Total	2	1.2%	109	64.5%	6	3.6%	117	69.2%	52	30.8%	169
43010700 - Criminal Justic	e/Police Sc	rianca									
Graduate	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Non-returner	0	0.0%	3	75.0%	1	25.0%	4	100.0%	0	0.0%	4
Total	0	0.0%	3	60.0%	2	40.0%	5	100.0%	0	0.0%	5
Total	O	0.070	3	00.070	_	40.070	3	100.070	O	0.070	3
43020300 - Fire Science/Fi	refighting										
Graduate	0	0.0%	4	57.1%	3	42.9%	7	100.0%	0	0.0%	7
Non-returner	0	0.0%	23	76.7%	1	3.3%	24	80.0%	6	20.0%	30
Total	0	0.0%	27	73.0%	4	10.8%	31	83.8%	6	16.2%	37
47060300 - Autobody/Colli	sion and P	onair Tod	hnology/	Fochnicia							
Graduate	0 Sion and N	0.0%	ninology/ 1	33.3%	2	66.7%	3	100.0%	0	0.0%	3
Non-returner	0	0.0%	7	77.8%	1	11.1%	8	88.9%	1	11.1%	9
Total	0	0.0%	8	66.7%	3	25.0%	11	91.7%	1	8.3%	12
Total	U	0.076	0	00.7 /0	3	25.0 /6	- 11	91.770	'	0.5 /0	12
47060400 - Automobile/Au	tomotive N	lechanics	Technolo	ogy/Techn	ician						
Graduate	1	14.3%	5	71.4%	1	14.3%	7	100.0%	0	0.0%	7
Non-returner	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3
Total	1	10.0%	7	70.0%	1	10.0%	9	90.0%	1	10.0%	10
47000500 Discal Mask and		/T									
47060500 - Diesel Mechani				70.00/	0	20.00/	0	00.00/	4	40.00/	10
Graduate	0	0.0%	7	70.0%	2	20.0%	9	90.0%	1	10.0%	10
Non-returner	0	0.0%	41	77.4%	1	1.9%	42	79.2%	11	20.8%	53
Total	0	0.0%	48	76.2%	3	4.8%	51	81.0%	12	19.0%	63
47060700 - Airframe Mecha	anics and A	Aircraft M	aintenand	e Techno	logy/Tech	nician					
Graduate	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1
Non-returner	0	0.0%	3	42.9%	0	0.0%	3	42.9%	4	57.1%	7
Total	0	0.0%	3	37.5%	1	12.5%	4	50.0%	4	50.0%	8
47060800 - Aircraft Power			chnician								
Graduate	2	14.3%	6	42.9%	4	28.6%	12	85.7%	2	14.3%	14
Non-returner	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3
Total	2	11.8%	9	52.9%	4	23.5%	15	88.2%	2	11.8%	17
48050800 - Welding Techn	ology/Weld	der									
Graduate	2	6.2%	22	68.8%	1	3.1%	25	78.1%	7	21.9%	32
Non-returner	0	0.0%	6	75.0%	0	0.0%	6	75.0%	2	25.0%	8
Total	2	5.0%	28	70.0%	1	2.5%	31	77.5%	9	22.5%	40

Technical Students	Addition High Educate and N Emplo	er ion ot	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
51070700 - Health Informa	tion/Medica	l Records	s Technol	oav/Techi	nician						
Graduate	0	0.0%	9	47.4%	5	26.3%	14	73.7%	5	26.3%	19
Non-returner	3	6.5%	30	65.2%	2	4.3%	35	76.1%	11	23.9%	46
Total	3	4.6%	39	60.0%	7	10.8%	49	75.4%	16	24.6%	65
51071300 - Medical Insura	nce Coding	Specialis	st/Coder								
Non-returner	0	0.0%	6	75.0%	1	12.5%	7	87.5%	1	12.5%	8
Total	0	0.0%	6	75.0%	1	12.5%	7	87.5%	1	12.5%	8
51090400 - Emergency Me	dical Techn	ology/Te	chnician (EMT Para	medic)						
Graduate	0	0.0%	13	100.0%	0	0.0%	13	100.0%	0	0.0%	13
Non-returner	1	5.0%	16	80.0%	1	5.0%	18	90.0%	2	10.0%	20
Total	1	3.0%	29	87.9%	1	3.0%	31	93.9%	2	6.1%	33
51090800 - Respiratory Ca	re Therapy/	Therapis	t								
Graduate	0	0.0%	6	85.7%	1	14.3%	7	100.0%	0	0.0%	7
Non-returner	0	0.0%	3	50.0%	1	16.7%	4	66.7%	2	33.3%	6
Total	0	0.0%	9	69.2%	2	15.4%	11	84.6%	2	15.4%	13
51091000 - Diagnostic Med	_										
Graduate	0	0.0%	9	90.0%	0	0.0%	9	90.0%	1	10.0%	10
Non-returner	0	0.0%	1	14.3%	1	14.3%	2	28.6%	5	71.4%	7
Total	0	0.0%	10	58.8%	1	5.9%	11	64.7%	6	35.3%	17
51150100 - Substance Abu	ıse/Addictio	n Couns	eling								
Graduate	0	0.0%	4	50.0%	3	37.5%	7	87.5%	1	12.5%	8
Non-returner	0	0.0%	7	50.0%	2	14.3%	9	64.3%	5	35.7%	14
Total	0	0.0%	11	50.0%	5	22.7%	16	72.7%	6	27.3%	22
51380100 - Registered Nur	rsing/Regist	ered Nur	se								
Graduate	1	1.5%	47	72.3%	12	18.5%	60	92.3%	5	7.7%	65
Non-returner	0	0.0%	3	100.0%	0	0.0%	3	100.0%	0	0.0%	3
Total	1	1.5%	50	73.5%	12	17.6%	63	92.6%	5	7.4%	68
51390100 - Licensed Pract	ical/Vocatio	nal Nurs	e Training]							
Graduate	1	4.2%	15	62.5%	7	29.2%	23	95.8%	1	4.2%	24
Non-returner	0	0.0%	3	75.0%	0	0.0%	3	75.0%	1	25.0%	4
Total	1	3.6%	18	64.3%	7	25.0%	26	92.9%	2	7.1%	28
52010100 - Business/Com	merce, Gen										
Graduate	4	19.0%	6	28.6%	7	33.3%	17	81.0%	4	19.0%	21
Non-returner	10	6.6%	92	60.9%	14	9.3%	116	76.8%	35	23.2%	151
Total	14	8.1%	98	57.0%	21	12.2%	133	77.3%	39	22.7%	172

Tech-Prep Students	Additi High Educa and I Emplo	ner ntion Not	Empl N Addit Hig Educ	o ional her	Additi High Educa an Emplo	ner ntion d	Empl and Addit Hig Educ	/or ional her	Students Not Found		Total Former Students		
15040300 - Electromechanical Technology/Electromechanical Engineering Technology													
Graduate	4	20.0%	9	45.0%	5 - 5	25.0%	18	90.0%	2	10.0%	20		
Non-returner	0	0.0%	14	77.8%	0	0.0%	14	77.8%	4	22.2%	18		
Total	4	10.5%	23	60.5%	5	13.2%	32	84.2%	6	15.8%	38		
19070600 - Child Developr	ment												
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Non-returner	1	11.1%	6	66.7%	0	0.0%	7	77.8%	2	22.2%	9		
Total	1	10.0%	7	70.0%	0	0.0%	8	80.0%	2	20.0%	10		
22030200 - Legal Assistan	ıt/Paralegal												
Graduate	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1		
Non-returner	0	0.0%	10	83.3%	0	0.0%	10	83.3%	2	16.7%	12		
Total	0	0.0%	11	84.6%	0	0.0%	11	84.6%	2	15.4%	13		
43010700 - Criminal Justic	ce/Police So	cience											
Non-returner	1	6.7%	10	66.7%	1	6.7%	12	80.0%	3	20.0%	15		
Total	1	6.7%	10	66.7%	1	6.7%	12	80.0%	3	20.0%	15		
47060400 - Automobile/Au	itomotive N	lechanics	s Technolo	gy/Techn	ician								
Non-returner	1	3.2%	25	80.6%	0	0.0%	26	83.9%	5	16.1%	31		
Total	1	3.2%	25	80.6%	0	0.0%	26	83.9%	5	16.1%	31		
48050800 - Welding Techn	ology/Weld	der											
Non-returner	0	0.0%	14	73.7%	1	5.3%	15	78.9%	4	21.1%	19		
Total	0	0.0%	14	73.7%	1	5.3%	15	78.9%	4	21.1%	19		
51380100 - Registered Nui	rsing/Regis	tered Nu	rse										
Non-returner	0	0.0%	4	40.0%	1	10.0%	5	50.0%	5	50.0%	10		
Total	0	0.0%	4	40.0%	1	10.0%	5	50.0%	5	50.0%	10		
52040100 - Administrative	Assistant	and Secr	etarial Sci	ence, Gen	eral								
Graduate	2	18.2%	4	36.4%	5	45.5%	11	100.0%	0	0.0%	11		
Non-returner	0	0.0%	3	60.0%	0	0.0%	3	60.0%	2	40.0%	5		
Total	2	12.5%	7	43.8%	5	31.2%	14	87.5%	2	12.5%	16		
52040800 - General Office	Occupatio	ns and C	erical Ser	vices									
Graduate	2	20.0%	5	50.0%	1	10.0%	8	80.0%	2	20.0%	10		
Non-returner	1	3.6%	15	53.6%	0	0.0%	16	57.1%	12	42.9%	28		
Total	3	7.9%	20	52.6%	1	2.6%	24	63.2%	14	36.8%	38		

Continuing Ed Students	Additic High Educat and N Emplo	er tion lot yed	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
51350100 - Massage Thera	py/Therape	utic Mas	sage								
Graduate	1	7.1%	7	50.0%	0	0.0%	8	57.1%	6	42.9%	14
Total	1	7.1%	7	50.0%	0	0.0%	8	57.1%	6	42.9%	14
51380100 - Registered Nur	sing/Regist	tered Nur	se								
Graduate	0	0.0%	55	78.6%	10	14.3%	65	92.9%	5	7.1%	70
Total	0	0.0%	55	78.6%	10	14.3%	65	92.9%	5	7.1%	70

Summary Page	Additi High Educa and l Emple	ner ntion Not	Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Graduate	80	24.2%	86	26.0%	109	32.9%	275	83.1%	56	16.9%	331
Completer	11	20.8%	10	18.9%	31	58.5%	52	98.1%	1	1.9%	53
Non-returner	944	28.6%	1,175	35.6%	491	14.9%	2,610	79.2%	687	20.8%	3,297
Total	1,035	28.1%	1,271	34.5%	631	17.1%	2,937	79.8%	744	20.2%	3,681
Total Technical Students											
Graduate	13	4.1%	192	60.0%	64	20.0%	269	84.1%	51	15.9%	320
Non-returner	21	2.9%	472	64.6%	33	4.5%	526	72.0%	205	28.0%	731
Total	34	3.2%	664	63.2%	97	9.2%	795	75.6%	256	24.4%	1,051
Total Tech-Prep Students											
Graduate	8	18.6%	20	46.5%	11	25.6%	39	90.7%	4	9.3%	43
Non-returner	4	2.7%	101	68.7%	3	2.0%	108	73.5%	39	26.5%	147
Total	12	6.3%	121	63.7%	14	7.4%	147	77.4%	43	22.6%	190
Total Technical/Tech-Prep	Students										
Graduate	21	5.8%	212	58.4%	75	20.7%	308	84.8%	55	15.2%	363
Non-returner	25	2.8%	573	65.3%	36	4.1%	634	72.2%	244	27.8%	878
Total	46	3.7%	785	63.3%	111	8.9%	942	75.9%	299	24.1%	1,241
Total Continuing Ed Stude	ents										
Graduate	1	1.2%	62	73.8%	10	11.9%	73	86.9%	11	13.1%	84
Total	1	1.2%	62	73.8%	10	11.9%	73	86.9%	11	13.1%	84
Grand Total											
Graduate	102	13.1%	360	46.3%	194	24.9%	656	84.3%	122	15.7%	778
Completer	11	20.8%	10	18.9%	31	58.5%	52	98.1%	1	1.9%	53
Non-returner	969	23.2%	1,748	41.9%	527	12.6%	3,244	77.7%	931	22.3%	4,175
Total	1,082	21.6%	2,118	42.3%	752	15.0%	3,952	78.9%	1,054	21.1%	5,006